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s of Finance)

Chapter-4 Mat h v
Time Value of Money | %
- SRR | 14.
mTp-march 20 d of 1 year gmonths the total ap,
the €
i . . est and at \
E 1. A sum of Rs. 46,875 was lent out_ at S'mp|eelrr(‘:faer1|; per annum. (d) 8% 15.
‘ was Rs. 50,000. Find the rate of interest p (©) 4% : ﬁ
Ll 6%
it (a) 5% ] @l ne of these
3 2. A = Rs. 5,200, R = 5% p.a., T = 6 years, P will be (USG(’C) F){s. 3,000 g o0 16.
I cHsT Rs. 3,880 a0
l (a) Rs.2,000 7 : 8% p-aC-
g 3 The time by which a sum of money would treble itself at ;rs (d) none of these.
M) zsyes {bY i yeels s 26533]
| 4 The present value of an annuity of Rs. 80 for 20 years at 5:’;')0 (d) none of these
I : Rs. 1,
[l b dn i a d Rs. 4,000 at the end of each year for 25 yrs 17
3 5. A person bought a house paying Rs. 29,000 ;ag:)ig\gn;sn%SSi g ;
5% p.a. C.I. The cash down price is[ Given (1. .\(('()-/RS L0 ) none of these.
h (a) Rs.75,000 (b) Rs. 76,000 .76,

* 2 { a
A man purchased a house valued at Rs. 3,00,000. He paid Rs. 2,00,000 at the time of purchase and agreg

every year. Using V = a/I find V and V will be
(a) Rs.2,000 . (b) Rs. 2,500 (c) Rs. 3,000

The amount standing to his credit one year after he has i ;
5 ! made
is.[Given (1.1)= 3.1384] his yearly

o) A
) Rs.11,761.36 (b) Rs.10,000 (¢} Rs.12,000

QW machine depreciates at 10% of its value at the beginn: (d) none of these

at the time of sale being Rs. 23,240 andRs. 9 - The cost ang s o
o v i cr alize
S v s i ~(?00 reSpect|ve‘h!X_ For how 4 ap value re

: ‘e oY.Years the machine was pit
(a) 7years ~ (b) 8years m 0 3 Lgy = LA
10. The compound interest on half- 1R

6% and for the third year 9% p.a. is
(a) Rs.2,200 (b) Rs.2,287

The present value of Rs, 10 000 due (<) Rs. 2,285
. ) u
half-yearly basis is e Years at 5%'D.a. comPOUnd : \,(‘J{Rs.zzgo,&;
(a) Rs.9,070 e

r : : e
(b) Rs, 9,069 \M/; : €St when the interest is paid '
$.9,060

r % to pay the balance with interest at 12% per annum compounded half yearly in 20 equal half year) 18
| instalments. If the first instalment is paid after six months from the date of purchase then the amoun

I of each instalment is.

I (a) Rs.8,718.45 (b) Rs.8,769.21 (c) Rs.7,893.13 (d) none of these ""“
i 7. A person desires to create a fund to be invested at 10% Cl Per annum to provide for a prize of Rs. 300 \4

2




nt

12.

13.

14.

15.

em \3*“1\'\

The effective rate of interest corresponding to a nominal rate 3% p.a payable half yearly is
0,
(a) 3.2%p.a (b) 3.25%p.a 3.0225% p.a (d) none of these

MTP-October ‘19

Rs. 1000 is invested at annual rate of interest ; o
of 10% p.a.
done annually is % p.a. The amount after two years if compounding is

(a) Rs.121 \/(’() Rs. 1210 (c) Rs.2110 (d) None of these

If A person invests 35.3,000 in a three years’ investment that pays you 12% per annum. Calculate the
future value of the investment.

g (b) Rs.4124.78 (c) Rs.4324.48 (d) Rs.4526.48
A person deposited a sum of Rs. 10,000 in a bank. After 2 years, he withdrew Rs. 4,000 and at the end of

» @5 years, he received an amount of Rs. 7,900; then the rate of simple interest is:

16.

17.

18.

20.

a1,

22,

# 6% (b) 5% (c) 10% (d) None of these

A comp.any.is considering proposal of purchasing a machine either by making full payment of Rs.4000 or
by leasing it for four years at an annual rate of Rs.1250. Which course of action is preferable if the
company can borrow money at 14% compounded annually? [P (4,0.14) = 2.9137]

(a) leasing is not preferable . \/Lbj/ﬁeasing is preferable

(c) cannot determined , (d) none of these

Anil bought a motor cycle costing Rs.1,30,000 by making a down payment of Rs.30, 000 and agreeing to
make equal annual payment for five years. How much would be each payment if the interest on unpaid

amount be 10% compounded annually? [ P (5, 0.10) = 3.7908] Q\/
(a) Rs.28379.70 (b) Rs.26300.70 (c) Rs.26500.70 ms.zssmjo

Shoba borrows Rs.50,00,000 to buy a house. If he pays equal instalments for 20 years and 10% interest
on outstanding balance, what will be the equal annual instalment? [Given : P(20,0.10) =8.5135§1\j

(a) Rs.687298.4 (b) Rs.685298.4 (c) Rs.585298.4 v(K) Rs.587298.4
A trust fund has invested Rs. 30,000 in two different types of bonds which pays 5% and 7% interest

respectively. Determine how much amount is invested in 2nd type of bond if trust obtains an annual

total interest of Rs. 1600.

\(9/ Rs.5000 (b) Rs.6000 (c) Rs.7000 (d) Rs.8000
An overdraft of Rs. 50,000 to be paid back in equal annual installments over a periW
the value of Installment, if interest is compounded annually at 14% per annum. [Giver(1.14)*°=13.74349 &
(a) Rs.7550.50 AT Rs.7549.30 (c) Rs.7559.50 (d) Rs.7560.50 /.

At six months’ intervals A deposited of Rs. 1000 in a savings account which credit interest at 10% p.a.,
compounded semi-annually. The first deposit was made when A’s son was 6 months old and last deposit
was made when his son was 8 years old. The money remained in the account and was presented to the

son on his 10th birthday. How much did he receive? (1.05)* = 2.1829)

(@) Rs.25740 (b) Rs.28756 (c) Rs.25860 (d) Rs.25760
What is the effective rate of interest if the nominal rate 5 % p.a converted quarterly?
(a) 6.09% byw)"g.og% (c) 5.55% (d) 5.60%
A sum of money doublles itself at compound interest in 10 years. In how many ygars will it become
eight times?
(a) 20 \ApY 30 (c) 40 (d) 35
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i ears and 10 Rs.2784
24. Certain sum of money borrowed at simple interest amount to Rs.2688 19 three y

¥ » 36.
four years at the rate per annum equal to ¢ ) 0 “AM e
(a) 7% (b) 6% (c) 5% (d) s

MTP-March ‘19 ;
25. A certain money doubles itself in 10 years when deposited on simple int

erest. It would triple itself |,

§ 5 years 37.
s b W st | (d)d ilntZrest, after 3 years,
26. A man deposited Rs. 8, 000 in a bank for 3 years at 5% per annum compoun N~
will get o
. . 9261
(a) Rs.9,000 (b) Rs.8, 800 (c) Rs.9,200 Ad) RS

27 79 rate of interest perannuy 38.

The effective rate of interest for one year corresponding to a nominal at
convertible quarterly is
fal 7% (b) 7.2% (c) 7.25% (d) 7'1,8% . . O
28. The value of furniture depreciates by 10% a year, if the present yalu e“c;f ?F‘f\e furniture in an ofTice is Rs .
21870, calculate the value of furniture 3 years ago. &, © € ((-Ag"
" Rs. 30,000 (b) Rs. 35,000 (c) Rs.40,000 (d) Rs.45,000 -
29. “The population of a town increases every year by 2 % of the population beginning of that year. The ™
number of years by which the total increase of population be 40% is Nty
(a) 7years (b) 10years ) \‘(’E)”/17 years (a'pproid’[ppately) 4
(d) none of these RO = 160 (J %w’%’f 2/ S
Find the future value of an annuity of Rs. 500 made annually for 7 years at interest rate of 14 % per
annum [ Given that (1.14) = 2. 5023]

fa)  Rs:536535 (b) Rs.5000 (c) Rs.5325.65

30.

42,
(d) Rs.6000.35

Rs. 200 invested at the end of each month in an account paying interest 6% per year compounded
monthly.

31.

1

What is the future value of this annuity after 10th payment? [ Given that (1.005)'° =1.0511]

(a) Rs.2045 (b) Rs.5055 \/(_2')‘ Rs.2044
Suppose your father decides to gift you Rs. 10,000 every year startin
you deposit this amount in a bank as and when you receive an
compounded annually. What is the present value of this annuity?
(a) Rs.41,698.70 (b) Rs.4569870 () Rs.42,698.70
| 33.  Nominal Rate of Return = [{0af bty ik 0y

atn. m6~ LohLn 4 )
(a) Real Rate of Return — Inflation ).(b)

(c) Inflation -Real Rate of return (d Real Rate of Return + Inflation
34. Net Present Value (NPV) ) None of the above

4 (a) _Present val

| Present value of net cash Inflow - Piesent Value of oo
| ~ [c) Total net Investment- Present value of net e R Effloutflow 46.
£ N\ aorb . cash Inflow™

(d) Rs.2065 43,

g from today for the next five years
d get 10% per annum interest rat

32.

g b (d) Rs.43,698.70 g
g lxbiop

45,

et Investment

O S B,

The annual birth rates per 1,00
; ,000are 39 4 and
J E:l)” b3e doubled assuming there is po immi;i'ggﬁspectlvely. Then
hsars (b) 30years (0)r €Migration |
€} 25years

20 (d) none of these

W
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uUmbe . \
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S

ohn

Yy bought Motor Bike Costing 80,000 by making down payment of Rs. 30000 and agreeing to make annual

payment for four years. How much would be each payment if the interest on unpaid amount be 14%
compounded annually. [Given P (4, 0.14) = 2.91371]

_Rs. 17160.25 (b) Rs.17600.25 ¢) Rs.15600.25 (d) Rs.16600.25
\(2)
MTP-April ‘19

36.

N

|37, 'Mr. A plans to invest up to Rs. 30,000 in two stocks X and Y. Stock X(x) is priced at Rs.175 and Stock Y(y)

at Rs.95 per share. T his can be shown by

~7 (a) 175x+95y<30,000 (b) 175x+95y>30,000
(c) 175x+95y=30,000 (d) None of these
38. A sum of money doubles itself at compounded interest in 10 years in how many years will it becomes
eight times?
(a) 20 \ b330 (c) 40 (d) 35
39. A machine costs Rs .1,00, 000. Thegepreciation rate is 10% per annum. The scrap value of the machine
at the end of 5 years is S SC{j=n)
(a) Rs.49490 _ \'&(Q;)»‘*”Rs. 59049 (c) Rs.61029 (d) Rs.51049
40. Rs. 10,000 is invested at annual rate of interest of 10% p.a. The amount after two years at annual
compounding is ' P
i (a) Rs.21100 %,4(’5’3 Rs. 12100 (c) Rs.12110 (d) None of these
41. ! |f the effective rate of interest is 12% per annum‘and the interest is compounded quarterly, the nominal
L, rate of interest per annum o LOR A el Nl 1258 A
(a) 11.78% (b) 11.21% (c) 11.89% ;w’(d) 11.49 % |

42 A machine can be purchased for Rs. 50, 000. Machine will be contributing Rs. 12, 000 per year for the

next five years. Assuming borrowing cost is 10% per annum. Determine whether machine should be
purchased or not ARSIV up, = M, W

(a) Should be purchased "’a,.,&b’)“fghould not be phrchased 28000

(c) Can’t say about purchase (d) none of the above

43. X bought a T V costing 25,000 making down payment of Rs. 5000 and agreeing to make equal annual
* payment for four years. How much would be each payment if the interest on unpaid amount be 14%

compounded annually? [P(4,0.14) = 2.91371]

L \,N,(;a'f"” Rs.6864.10 (b) Rs.6850.63 (c) Rs.6859 (d) Rs.6871
4.  The future value of annuity on Rs. 5000 a year for 7 years at 14% per annum compound interest is given
(1.14)" =2.5023 '
(a) Rs.5300 \ }b)/ Rs.53653.57 (c) Rs.5480 (d) Rs.5465.23

4. Rs.5000 paid for ten years to off a loan. What is the loan amount if interest rate be 14% per annum
compounded annually? (Given P (10, 0.14) = 5.21611% &;DVV
(@) Rs.26080.55 (b) Rs.26580.55 (c) Rs.26280.55 (d) Rs.27080.55
8. ° Rs.1000 is invested at the end of each month in an account paying interest 6% per year compounded
monthly. What is the future value of annuity after 10th payment? (Given that (1.005)*° = 1.0511)
WY Rs.10220 (b) Rs.1022 (c) Rs.20000 (d) Rs.1020

The difference between CI and SI on a certain money invested for three years at 6% per annum is Rs.
110.16. T he sumis

(a) Rs.3000 ~ (b) Rs:3700 (c) Rs.12000 (" Rs.10000

‘} i L _/'. i ¥ ”4";‘_ Y
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48. Simple interest on Rs.3500 for 3 years at 12% per annum is (d) Rs. 2000 6:
(a) Rs.1200 (b)Rs.1260 (c) Rs.2260
s -
W i« the rate of interest per annyp,, .
49, A sum of money triples itself in 18 years under simplejnterest. o s (d) 13%
(@) 9% (b) 9.09% 2l 11'1.1% g % simple interest? .
50. What time will be required for a sum of money to double ity (d) 12 Years
(a) 8Years (b) 8.5 Years M e of Z 6,00,000 for two years .
51.  The difference between simple interest and com "undzinterest oa st :
X 6000. What is the annual rate ot/interest? ’(%)’( o (d) 12% €
a) 8% T 10% : . |
52. iN)hat is the sum of mone;m\;/in amount to ¥ 11035.50 in four years at compound 2
3rd and 4th years being 4% , 3% , 2% and 1% respectively. d4) 711,305
\e»mﬂ 310,000 (b} X11,000 (c) ?1035. : : -) :c rate be 9 per cer
53. Find the present value of ¥ 10,000 to be required after 5 years, if the interes i
compounded annually (Given: (1.09) -5= 0.65) ' 4
(a) p? 5500 (b) %5600 (c) 6000 ety " 6500
54. A Machine was purchased for % 10,000. Its rate of depreciation is 10% in the first year and 5 % per annum, k
- g;wf‘&' afterwards. Find the depreciated value of Machine after 7 years of purchase (Given (0.95)6= 0.7351
= t\ " (a) 6606 T 26616 (c) 6660 (d) Z6661
s ) A man borrows 34000 from a bank at 10% compound interest. At the end of every year ¥ 1,500 as partof”

repayment of loan and interest. How much is still owe to the bank after three such instalments [Given ¢

SV 4 (11)3=1.331]
G') b, 3 3 |
(a) %359 (b) X820 (o) 27245 - {d) X 720.
56 The effective rate of interest for one-year deposit corresponding to a nominal 7 % rate of interest per |
annum convertible quarterly. is ;;?'-. = } ‘;; :
(a) 7% (b) 7.5 (c) 7.4% “d] 7.18%
57. The future value of annuity of ¥1,000 made annually for 5 i
,000, years at th ded
annually is (Given (1.14)5= 1.925410) e ohiax 7 e
\th (c) %6160 (d) 6160

58. What will be the population after three years when present Population js 325

increases at the rate of 3 % in first year, 4 9 in second year and 5 % in third 000 and populatior
f °In third year?

(2 28119 b) 29
59. Eéi{o.zfzs P at 10% p.a find( ﬂie “"1128 ol i e
Aal 125yearsQ  (b) 25Years (€] 0.25 Years (d) none
: MTP-March 21 iy
50_) “ Rs 8,000 becomes Rs. 10,090 in tWO_Vears at simple | terest, Th
g 3 years at the same rate of mf;l'ﬁst is: \Q\S 'k?;. ® amount that Will become Rs. 6,875
B, 2] Rs.4850 gl () Rs.5,500 (d) Rs. 5,275

" | 61. | The difference between tHe simple and com :

= A s : Pound

| 228.75. The compound interest on the sum"fo; 5 ye;nr?fest 0 8 certaim sum £, 5 . is R
0, 5 0, IS I\

(a) Rs.3,175 &) Rs. 3,075 - at 5% p.a, js: 3yearats5%p.a.is

(¢) Rs.327
ot 5
(d) Rs.2,975




]

62.

63

1

69.

70.

.

72,

\()//?156454.83 (b) 144865.625

A sum of money doubles itself in 10 years. The number of years it would treble itself is:
(a) 25years (b) 15years \/Lr() 20 years (d) None

The effective rate equivalent to nominal rate of 6% compounded monthly is:

(a) 6.05 \AY) 6.17 (c) 6.26 (d) 6.07

A person bOLFOQ:A{S: Rs. 5,000 for 2 Yeags ::)t 4% p.a. simple interest. He immediately lends to another
£Yy . ¢ ‘
- & A

person at 64 % p.a. for g\years. Find his gain in the transaction per year:
- N S

\Aﬁf Rs.11250 =3, (b) Rs.125 (c) Rs.225 (d) Rs.167.50

Future value of an ordinary annuity

(1+i)"-1 g
e T [

1-(1+i)" 1+i)" -1
& A=A (d) A(n, i)=A[(‘i(—}l‘);i)TJ

The cost of machinery is Rs. 1,25,000/- if its us.eful life is estimated to be 20 years and the rate of
depreciation of its cost is 10% p.a., then the scrap value of the Machinery is [given that (0.9)20 =

0.12158] Sz c()-n)
(a), 15,197 (b) 15,400 (c) 15,300 (d) 15,250

A person invests Rs.5,000 in a three years’ investment that pays you 12% per annum. Calculate the

future value of the investment.

AdT Rs.7024.64 (b) Rs.7124.78 (c) Rs.7324.48 (d) Rs.7526.48

Anil bought a motor cycle costing Rs.1,50,000 by making a down payment of Rs.50, 000 and agreeing to
make equal annual payment for five years. How much would be each payment if the interest on unpaid

amount be 10% compounded annually? [P (5,0.10) = 3.7908]

(a) Rs.26379.66 (b) Rs.26300.70 (c) Rs.26500.70 (d) Rs.26370.70

Shoba borrows Rs.50,00,000 to buy a house. If he pays equal instalments for 20 years and 10% interest
on outstanding balance, what will be the equal annual instalment?

[Given : P(20,0.10) =8.51356 ]
(a) Rs.687298.4 (b) Rs.685298.4 (c) Rs.585298.4 (d) Rs.587298.4
How much money is to be invested every year so to accumulate Rs. 3,00,000 at the end of 10 years if
interest is compounded annually at 10% [ A (10,0.1) = 15.9374)
Rs.18823.65 (b) Rs.18833.64 (c) Rs.18223.60 (d) Rs.16823.65

MTP-March’22

In what time will be a sum of money doubles itself at 6.25% p.a simple interest ?

(a) 5years (b) 8years (c) 12years (d) 16 years

Mr. X invests ¥ 10,000 every year startmg from today fc for next 10 years suppose interest rate is 8% per
annum compounded annually. Calcufate future “Value of the annuity: (Given that (1+0.08)10 = 2.158925]

: L (c) ¥156554.88 (d) none of these
F" v,»l@': ¥ ! L "«“‘ ) %

}

LN

- o

L
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a certain sum pe 0.125 times the principal at 10y Ber
n

73 How much time would the simple interest O -
‘ % 3
annum ﬁ‘ 3 ) 2 .}L Years (d) 2 —4— Years
N ag 4 " If |f it doubles itself in 15 years interq,,
. H e ¢
74 The time in by which a sum of money 15 87t|me5 of its . .
: £ a0 )
compounded annually. Oy (d 45 s (d) 46 years
(a) 42years (b) 43years very year by 10% then the value befor. -
75 Present value of a scooter is T 7290, if its value decreases € b
s is equal to (d) 20,500
\(/e;‘a Hloogo (b) 10,500 (c) 20,000 lipid
. i i ble quarterly.
76 : Fmd&he effective rate of interest at 10% p.a when the lnte;e;;c1 ;s paya q T
' (C) . ©
; a‘) 10.38% (b) 5% : .
77 \#“trhe difference between in simple interest on a sum invested of ¥ 1500 for 3 year§ isT1 erence 5
in their rate is :
(a)r 04 (b) 0.6 (c) 0.8 (d) 0.10

78. \‘l'/popuiatson is 25,000 then What will be the population after 3 years . When the population increases g3

at the rate 3% in 1year, 4 % in |l year and 5% in Il year.
“1a) 28119 (b) 29,118 (c) 27,000 (d) 30,000

79. If £10,000 is invested at 8 % per annum, then compounded quarterly.Then value of investment after ]

years is

S %11,716.59 (b) T10,716.59 (c) 1 X12,715:59 (d) none of these

80. In how many years will a sum of money become double at 5% p.a compound interest

(a) 14years (b) 15years (c) 16years s _-4d)” 14.3 Years 9

MTP-Oct ‘21

81.

The future value of an annuity of ¥1,000 is made annuall f
y for 5 years at interest rat 9
annually [Given that (1.14)°= 1.92541] is dekl R

(a) %5610 Y T6610. | ()

%6160 (d) ? 5160
;;‘ggé’; ?l:ic?:fs\evtaai‘eeg: ?nli::;;r;zrlea::ﬁﬁst and at the end of 1 year 8 months, the total amount wa
. e
flur:f:f money amoun:t\;iﬁ?) 3 4 ! () 12% (d) None
are , »200in 2 years and ¥ 7,400 in 3 years. The principal and rate of interes!
84, L‘:Z&e :f:::i)i(\)/frlz;:e? 'ff inte(b) ?31000' i el 1Y 3,500, 15%
P rest correspondin ; ; (d) none of these

Btoa i
(a) 3.2%p.a (b) 3.25%pa nomln:l}ate 3% p.a payable half yearly is
& /. \A sum of money gets doubled in 5 \{ 3.0225% p.a

years at Xo (d) none of these
would have become ten-fold in thirty years. /"\Aj'mple interest. If the interest 9 )
(a) 10 hat is v X (. was Y%, the sum of moné!

(b7 n %) L
86. The nomi
nal rate of growth ‘5
Product GD Bnd | atl \.i
L7, 5:37 P) amount at the pregen; Vear the‘:\”t' for the five years. | g one i
§ (b) 1 921,, rOJected real et P be the Gross Domes!

GDP after 6 years is
—

cg (c) 1.403p

91.

i



87.

89.

The difference between Compound Interest and Simple Interest on a certain sum for 2 years at 6% p.a.
is T 13.50. Find the sum oy
(a)” 3750 (b) 2750 (© 4750 R

“The sum required to earn a monthly interest of Rs 1200 at 18% per annum Simple Interest 1s

(a) 50,000 (b) X60,000 (c) ¥ 80,000 (d) none

The compound interest earned by a money lender on ¥ 7,000 for 3 years if the rate of interest for 3 years
are 7%, 8% and 8.5% respectively is

(a) %1750 (b) 1800 e 21776 (d) none

Find the present value of an annuity of ¥ 1,000 payable at the end of each year for 10 years, if the
money is worth 5% effective.

Ta) 37,724 (b) ¥ 7000 ey % 8000 (d) none

91.

- 92

93.

95.

96.

The present value of annuity o’f} 3,000 per annum for 15 years at 4.5% p.a C.I. annually is
(a) ¥23,809.41 by X 32,214.60 (c) % 32,908.41 (d) none

A person desires to create a fund to be invested at 10% Cl per annum to provide for a prize of 300 every

year. Using V = a/l find V and V will be P B

(a) ¥ 2,000 (b)" ¥ 2,500 ber" 23000 Yo  (d) none of these

The future value of annuity of ¥ 2000 for 5 years at 5 % compounded annually is given (in nearest ‘) as
s 11,051 (o). T 21,021 (c) ¥ 1,56,24 (d) % 61254

A Maruti Zen cost T 3,60,000. Its price depreciates at the rate of 10% of a year during the first two years
and at the rate of 20% in third year. Find the total depreciation.
\ﬁ}ﬂ*’? 1,26,720 {b). ¥ 1,145,620 (e} 125,000 (d) ¥ 1,140,520
MTP-Nov ‘21 L

Arun purchased a vaccum cleaner by giving ¥ 1700 as cash down payment, which will be followed by
five EMIs of T 480 each. The vaccum cleaner can also be bought by paying T 3900 cash. What is the
approx. rate of interest p.a. (at simple interest) under this instalment plan?

(a) 18% fby  19% (c) 22% (d) 20%
Present Value of a five year annuity is Rs. 2,000. If the rate of interest is 8% p.a., what is the amount of
each annuity payment?

\IaY" Rs.500.9 (b) Rs.463.8 (c) Rs.363.1 (d) Rs.486.4

97.

2
.
et

Abdul has taken a loan from Bahadur at 7% p.a. The loan has to be repaid in three equal yearly instalments
of Rs. 10,000 each. What is the amount of loan taken?

(a) Rs.25,467 (b) Rs.26,897 “},.,»('c'i' Rs.26,243 (d) None

Atook algan from B. The loan is to be repaid in annual installments of Rs. 2,000 each. The first instalment
is to be paid three years from today and the last one is to be paid 8 years from today? What is the value

of loan today, using a discount rate of eight percent?

(e .
(a) Rs.9,246 w' Rs.7,927 (c) Rs.8,567 (d) None
If the cost of capital be 12% per annum, then the Net Present Value (in nearest Rs.) from the given cash
—

flow is given as

Year 0 2 3
Operating Profit (in thousand Rs.) ('Iﬁﬁ)‘ 60" 40 50
e 5 ' ; R5.21048
(a) Rs.34048 (b) Rs.34185 (c) Rs.51048 (d) Rs.21048
. .'
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fit of a manufacturer for five years is given as y 5 6 113.
ating pro
/| 100. letthe oper . 2 3 i 14, 120.24 157.35
Year ) a 100 1064 . Y-
in lakh Rs.
Operating profit (in 12
und Annual growth Rate (CAGR) (d) 13% 114.
Calculate Compo : (c) 11% um will be:
{2 2% : 126' ¢ of interest, the rate of interest per ann * X
101 Ifasum triples itself in 15 years at simple ra (o) 13 5% () 18.0- 115.
gt b lation is 25 000 and population increases at
102.  What will be populatnon “fter 3 years when Preselnt ZZ?;J a
the rate of 3% in | year, at 4% in |l year and 5% in Iy ( ) Rs.27,000 (d) Rs.30, 000 o
(¢ L1 .
Rs. 28 119 (b) RS'29'118 . & Of 10(y compou nded
103.  The future value of an annuity of-Rs.1500 made annually for five years at interest 4
annually is (Given that (1.1) >= .61051) 6
(a) Rs9517.56 (pf Rs.9157.65 (c) Rs.9715.56 . (d) Rs.9175.65 24
i . 104.  Find the effective rate of interest equivalent to the nominal rate of 7% converted monthly:
(a) 7.26% M 7.22% (c) 7.02% (d) 7.20%
it | 105.  How much will be Rs.25,000 to in 2 years at compound interest if the rates for the successive years are
E at 4% and 5% per year
liﬁ‘ ‘ ﬁ.ﬂ Rs.27,300 (b) Rs.27,000 (c) Rs.27,500 (d) Rs.27,900 118.
I / ~ MTP-2Nov’22
i/
4 7/ 106 /A man invests ¥ 12,000 at 10% p.a. and another sum of mone
| AN / y at 20% p.a for one year. The total *
ﬁ{i y‘? e eams.m° pd: S'mple interest the total investment is: ! ““Otal 119
(a) 8,000 \AB) ¥20,000 |
i . c) T 14,
‘ 107.  The difference in simple interest of a sum invested of ¥ 1(5)00 f . e
éi: ' rates js: ' ,500 for 3 years is X 18. The difference in their
J! 10 NN Whos (c) 0.8 /
{; 8. Fmd the effective rate of interest on X 10,000 on which irt : (d) 0.10 120
| intere
| \m 5.06% b st is payable half yearly at 5% p.a
109. i . (c) 0.4% ¢ ;
ythe effective rate of interest at 10% M 0 _ (d) 3%
) 10.38% (b) 5% Interest is payable quarterly, e
110.  What will b : ° (c) 5045 CoNE N\es) -
e the population after 3 % (d) 4%

(a) 28,119

° - -
A (b) 29,118 %1in 3rd year? Population increases 12:
e "The value of scooter is ¥ 10,000. Find its ya|y (c) 27,000
b i gl 4 ! Sva u R
% ‘*\ &'} 34,782.96 % € after 7 years i rate of (d) 30,000
112 (b) ?4278 69 of depreciation ;
- SI=0.125P at 10% p.a. Find Time, (c) T42 ol on is 10% p.a. .

a’/ 1.25 years

(b) 25 years

12




mpounded mont
nterest 6% Per year comp "

i unt paying i
. ested at the end of each month in acco ? [Given that (1.005) 77 1.0511]
125. ¥ 800isin : f annuity after 10th payment « | ﬁ% i
What is the future value of @ () 2491

126.  Certain sum 0

129.  Rajesh invests ¥ 20,000 per year in a st

127. Ravi made of an investment 0

oA ({ay’ 5 {b) 7.7
128. Madhu takes a loan o

(b) %8766

f money borrowed at simple inter

1d to T 2784 in four ye,,
() TR0 ears an i

A §

/ 1

est to T 2688 in three Y

(d) 7%

rity the time of maturity
8.88%. Calculat,

at the,rate per annum equal to

(c) 5%
o) 4%

in tu
t the time of ma :
N for this investmept is

(b) 6%
£% 15,000 in a schem
CAGR
amount was ¥ 25,000. If Compound Annl;?IhG}:zV:]t:sF:f\f/ZS(ted th)e e
i whic
the axppronmate number of years for , o i
f interest is 10% per annum. The firg

f T 50,000 from ABC Bank LTD.The rate O of equial instalments

i i unt (in %)
instalmennt will be paid at the end of five year. Determiné the amo (

Madhu wishes to repay the amount in five years. e

(a) 19,510 (b) ¥19,430 (c) ¥19,310 oy

ock index fund, with earns 9% per year, for the next ten years.Whz:
i ; 2 : t installment?

would be closest value of accumulated mvgs}gper&s }lpon Payment of the las

)

[Given: (1.09)10=2.36736] FV/= A M

1 A
| (a) 3:88,764.968 pY33,03,858.564 ~ (c) T2,68,728.484  (d) T4,08,718.364
130.  An investment is earning compounded interest ¥ 100 invested in the year 2 accumulated to < 105 by
| : year 4. If ¥ 500 invested in the year 5, will become ¥ ____ by year 10.
, (a) ¥364.80 WW 3564.80 (c) T464.80 (d) ¥ 664.80
‘ 131.  Aninvestor is saving to pay off an obligation of X 15,250 which will due in seven years, if the investor i
earning 7.5% simple interest rate per annum , he must deposit T to’‘meet the obligation.
(a) %8,000 | (b) 9,000 V“S/ ¥10,000 (d) 11,000
132.  The value of scooter is ¥ 1,00,000 find its de reciation is 10% p. ' ‘ o
‘/;Ee end of seven years. P lon is 10% p.a. Calculte total depreciation value 2
a) 47829.70 b) 470 ’
133.  Effective rate of int b 47000'9‘0 Sl (d) X42,000
X erest does not depend upon
\ ) Amount of Principal

(b) - Amount of Interest
(d) none of these
MTP-2 June’22
N

(c) Number of conversion periods

134.  Find the effective rate of inte i
rest if an amount :
10% per annum compoundeg e of 30,000 depositeq in a bank. For 1 year at the rate o
(a) 10.05% : R = [\%g) .
(b) 10.10% s g A
135, 1h Y (c) 10.209
) de present poptljlatlon of atown is 25,009, if it grow 20% 4 (d)10.259%
rd year respectively. Then find the populati S atthe rate of 4%, 5% 8% Auiri
() 29484 (b) 2 lon after 3 yegrs, 27 8% during 1 st year, 2nd ye?'
4 29,844 :
136.  The present value of a sco (c) 29,448
léh) 10000 ”{Qter 1537290. The rate of depreciation g S
( b is 109 .
J ! N (b) 10010 M 0%. What was its value 3 years ag¢
s (d) 12000
24 34

137.

138.

139.

140.

141.

142,

143

144

145

Na



s e
e ST _
M..w—»——’-“zgr’ 22 ( ) i
21
) 26 (d) : f
(b .
25 |
) 30 (a) %
. 35
29
34 (d) o
33 (b) : - (b)
38 (b) -~
37 (a) 4 i
42 (b)
a1 (d) v i
) 46 (a)
i ; 51 (b)
50 (c)
49 (c) . i o
53 (d) 54
(a) 59 Aal
57 (b) 8 LI
L & (b)
61 (b) 6 (€ | |
[ ‘ 67 (a
65 (a) 66 W(a})
71 4 A(d)
69 (d) 70 (a)
7 (c) 75\ (a)
78 (a) 79 (a)
82. (b) ‘ 83 (a)
86 _ (a) ‘ 87 (a)
o €N (o)
g % (o
98 (b)\ o i
102 (a) i (5
106 (b) 107 (q)
S G

24

28

52

36

52

56

72

76

92

96

100

104

108

(b)

(a)




109 (a) 110 (a) e e 12 . la]
113 (c) Wl oo [dl) 115  (a) 116  (b)
117 (a) i )

119 (a) 150, fd) i1 - (d) 122 (a)
123 6) s 4 (B 175 19 (d) ¢ , 1267 (9}
127 (a) 128 (e} | 129  (b) 186 (b}
131 (c) 132 G 133+ (a) 134 (d)
135 (a) ~ | 136 (a)- , ) 138 (c)
e ) | wel ey Ol 141 (a) 142 (c)
143 (a) o (b) 145  (b)
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